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Full Marks : 80
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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed - 1x10=10
TS bR et SRl Seg i

(@) Write a triangular matrix.

<51 fagd cleres ol |

(b) State the condition under which the
production function Q=AK%I? is a
linearly = homogeneous production
function.

Q= AK®IP Seove ToRl FEERT NgR
A CRANH T @I 5ECH BN |
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(c)

(d)

(e)

A23/753

The function f is called homothetic if
fX)=fly)= f(x) = f(ty), t>0.

( Write True or False )

f 0! R el
Fx) = fly)= fltx) = f(ty), t>0.

(WG{W%{:“)

Write an identity matrix o

I ICIE G oo e &

f order n.
A

Economistg
: all Lagrange multiplier

— s

( saddle point/lshadow price )

( Fill in the blank )
e

g w1 )
= | F BRI Ry

( Continued )

(g9)

(h)

()

A23/753

What is the norm of the following
matrix?

e ol e dfswie 6 27992

[l

(i) —2
(i) —1
(iii) 10
(iv) —10

( Choose the correct answer )

( wm Teaw! iR Sfersar )

State mathematically the necessary
condition for equilibrium of a price
discriminating monopoly market.

v Rreiies «emor IS Sieiy R
AW G NP DS =7 |

If we interchange any two rows or two
columns of a determinant, then its
value remains unchanged.

( Write True or False )

T Bt Fdigea ¥o! *1R A 5! TS AP T4t
=, (O3 W T GG Ace T Bz e =)

(%) @ =Py forat )
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i) What is the tr - i
() e trace of a skew-symmetric (d) What will be the solution of the

trix?
£ following difference  equation by
fofe-fie @oees SqEe & 299 iterative method?
wore fal (% AAPIAWBE TSR A oS
e t g 237
: swer the following questions : —
2x5=10 Ups1-0-3y; =0
wore vl e ©eq fin -
(a) Distinguish between ga (e) What value must x have so that the
vector. ) scalar and a ' following matrix A does not have an
inverse?

st S S e AR e e R oS Rl A (RPN RSN TR I &

! T+ F 2’3 Aif[2

Diffe i 12 i
(b) erentiate x* + y2 — o5 implicitly. e
=
[x Lt }

:?:T% T x* 442 =257 s fidg

3. - Answer the following questions (any four) :
A i 5x4=20

et oo Rl e Sed i (R et BifRe)

(c) Forwhatvalueof[i, A=[B pés)
2 B+1

Symmetric matrix?
(a) Find the extreme value of the following
function :

B & T A A=lB pE=] o
2 pyq | I RS wero fml FomE bW A e 4
o %'39

Z=e®* -2x+2y% +3

A23/753
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(b)

(c)

(@)

A23/753

Calculate the 3x3 matrix A=

with a; =2i—j. (@;)3.3

A=(jlaxs  @ETEFH Bz o

G.g- =2i—j 27 |

Show that the following functibn is a

homogeneous function of degree Sy

B E|
eyt TP T ey
3
fldg)==X"5y° |
X2 Y12
USing t]_')e

Properti
show that SN0 determinant

1 1 1
a b ¢
= (g -
a? p? 2 ( b)(bbc)(c—a)

( Continued )

(e)

4. Answer the following questions :

For F(y, x)=0, is the following implicit
function defined around the point
w=3x=1)?

F(y, x) =03 I 91O i wmffEe F=ot
(y=3,x=1 R FRE=?

x3 - 2x%y-3xy?-22=0

Show that the following function is
continuous but not differentiable at

=2

oo Al TEE0l x =2 Ao uiRkfka [
e W 4@ @3edt

x<2

x22

f(x)=x_1!
=2x-3,

wore frl epTeed Sed il

(@)

A23 /753

A monopolist produces his product in
two different plants and his total cost

functions are given by

1
TC; =20 - 40, +5le

TC, = 40 -8Q, + Q3

( Turn Over )

10x4=40



(b) Analyze the following market model for

If the average Teévenue function ig
bySEARE QR ol S B gl;en stability 10
then find e = + 5,
-and maximfz;offmﬂa’“mlzmg outputs oo iRl 9 WRDR RSl Resd w41 :
' 5+5=10
QD = 10 = SP
S SPTHH]
Ww@a%ﬁmﬁmhmaﬁm Qs =-10 +20P
g P _ 305 = 0s)
dt
Tcl =20-—4QI +1Q2
2
Or [ 941
TC2=40--8Q2+Q2 r/
Solve the following simple market
zg—l— ey AR = 4 model by (i) Cramer’s rule and
5 o 0 =, (om s 9 iy (i) matrix inversion method : 54+5=10
SILTE| vﬁmm GliS
i S S ity wore frl e I@d ARG () @R
i (i) HfETRE TEATT TROW A
Or / gz 90 :
Fi.nd the Onl QD =a—bP
Problem Y Possible Solution ¢, th Qg =—c+dP
Maxim; Qp =0s
Mize x2,3, Subject o
i +tz=12 10
X+y+z=1o ﬁ'r@‘aas (c) If the cost function of a firm is
TETGR i RiE] Flols C =L +2K and the production function
fdfa Sl T e I o zf is Q = LK, then find the value of L and
2l K so that 50 units can be produced at
minimum cost. 10
A23/753 ( Turn Over )
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( 10 )

I 9 TeotE e W T
C=L+2K SIF oM T Q = LK =,
msomcﬁmﬂ#ﬁmw%‘wmmL
wmmﬁwi’amﬁa,@ﬁ@,

Or /| 923t
A price discriminatin

market has the
curves and cost fun

g firm of monopoly
following demand
ctions. Find the—
(i) profit maximizing outputs;

(i) profit maximizing Prices;

(i) maximum profit;
(i) elasticities of de

(@)

(r 1i)

ly function
S
) Fhe r‘tgmporal equilibrium price an'd
2 lrr;;?ne whether the time path is e
Sgrliergent or divergent :

wors firl TErEE SfES oifEa S Qe
W@ = oIR] STERRe IRy i i 1 e
S eﬁ:—;«»rm el ¢ SR 23, ff
4l

Qst =—-3+4h;

Or [ 91!
Ng marketg
i : 5+5=10
4+2+2+2=10 ing two equations :

: the following
" RUehips qum RITE Beotfie Solve v

- WWWWWW were Pl ARea wol Ay :
@R e w1

P2=42,_302
C=50+100, ©=0, 40,

dy . 5 =10, y(0)=6
(O e

=5
(ii) Ypo1 +3Yr =2, Y(O0)

* Kk &
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